OLINTH

[ ] [
l SlAEROSPACE

hi-shear corporation
2600 SKYPARK DRIVE, TORRANCE, CALIFORNIA 90509 U.S.A.

HI-SHEAR Corporation, USA
a LISI AEROSPACE Company

Design Holder CAGE No. 73197

For the current list of licensed manufacturers, please visit the
LISI AEROSPACE website at:

HTTP://WWW.LISIFAEROSPACE.COM/LICENSES

INDENTED HEAD MARKING 0.25 MAX
DEPTH. IDENTIFY AS TABULATED
AND MANUFACTURER'S TRADEMARK
"hs". ARRANGEMENT OPTIONAL.

(MAXGRIP +B) +0.25 —————

0.Si
MAX GRIP £.0.13

REMAINING PORTION OF HI-LOK™
COLLAR AFTER ASSEMBLY

- T | TYPICAL COLLARS: HLM70,
T HLM82, HLM94, HLM175
—H R 7| S CHAMFER 0000
//,/////
—_— I
RAD L ( 000000
—_ /7 2/,
{ WvAve / 007
I
B B Y : 100° /
DIA DIA|  go°
N
A I
45° -
e N i
\ D ™ =
¢ DA DIA THREAD ROLLED PER BRITISH
COLLAR WRENCHING
STD 3643 (ISO METRIC). MODIFIED
oAl DEVICE AUTOMATICALLY
MAJOR DIA. SHALL BE PER "TD A TICALLY
HI-LOK™ (METRIC) PIN S SO
HI-LOK™ (METRIC) PIN AND COLLAR AFTER ASSEMBLY
SEE COLLAR STANDARDS
frsT | P DDIA SOCKET DOUBLE | rension FOR COLLAR STRENGTHS.
DASH | NOMm HEAD A B ™D G H R CHAVFER THREAD T T SHEAR | \EWTONS LOWER STRENGTH (PIN OR
NG, Din MARKING DIA REF | WITHouT | AFTER | DIA REF RAD AUE MODIFIED HVEVX o | oEpTH D\& r\'lvlﬁm%s MINIMUM g\c{)lélfés) éDTEgéEI\Ii{gA_II_HES
MIN MAX
04 4 HLM10M4 085 | 835 | 3390 | 3999 | 391 | o6 | 122 | 085 |osx3re| maxo7an | 1€ | 180 | 205 | 230 | 16400 | 7800
8.15 4990 | 4.990 | 4.90 140 | 0.65 . 2.05 3.05
05 5 HLM10M5 Sae | 865 | 2378 | 4oes | a8a | 08 | 112 | oa0 | 08x37 M5 x 0.8-4h 509 | 200 | 305 | 323 | 25700 | 11800
10.20 5990 | 5.990 | 5.88 175 | 0.65 . 2.46 3.60
06 6 HLM10M6 o0 | 1070 | 2378 | 2oes | 287 09 | 1L | 040 | 08x37 M6 x 1.0-4h S0 | 225 | 340 | 390 | 37000 | 18200
12.85 7.987 | 7.987 | 7.88 220 | 075 ) 3.29 4.60
08 8 HLM10M8 X 1 552 | 1205 | D920 23RS | See | 10 | $88 | okn | 12x37 M8 x 1.0-4h 3% | 280 | 415 | 702 | 65800 | 31600
16.20 9987 | 9.987 | 9.88 265 | 075 . 411 555
10 10 HLMIOM10X 1 | 1240 | 1520 | 3935 | 9oas | 980 | 13 | 5a0 | ofo | 12x37°| mi0x104n | 00 | 380 | 535 | 225 | 102900 | 48900
18.80 11.984 | 11.984 | 11.87 295 | 075 ) 4.90 6.45
12 12 | HLM1OM12 X 1.25 | Ja50 | 1815 | 11dae | 11959 | 1196 | 15 | 538 | obg | 1:2x37° | M12x1.254n | 423 | 455 | 630 | 2o | 148100 | 66700
GENERAL NOTES: _ 1. Concentricity: "A" to "D" diameter within 0.25 FIM. CODE:  First dash number indicates nominal diameter'in 1 mm.
2. Dimensions are in millimeters and to be met after finish. econd dash number indicates maximum grip in 1 mm.
3. Surface texture per ISO/R468. See Finish note for explanation of code letters.
4. Use HLM310 for oversize replacement.
P HOW TO ORDER

MATERIAL: 6AL-4V titanium alloy per AMS4928 or AMS4967 for all sizes.
B6AL-6V-2Sn titanium alloy per AMS4971 is acceptable for -10 and larger size.
HEAT TREAT: 655 MPa shear minimum.
FINISH: HLM10( )-() = Surface coating per Hi-Shear Spec. 306, Type |, color blue-violet

SPECIFICATION:

[B] After February, 21st of 2015, HI-KOTE™ 1 aluminum pigmented coating
will be replaced by REACH compliant HI-KOTE™ 1 NC aluminum pigmented
coating per Hi-Shear Spec. 294 on fasteners coated in European Union.

EXAMPLE: Pin Part Number
HLM10AP8-8

(equivalent to LN9368 Blatt 4), and cetyl alcohol lube per Hi-Shear

Spec. 305.
[5] HLM10AP( )-( )
and cetyl alcohol lube per Hi-Shear Spec. 305.
[5] HLM10AT(
[5] HLM10AZ(

~ —

-()
-()

= HI-KOTE™ 1 aluminum pigmented coating per Hi-Shear Spec. 294,

= HI-KOTE™ 1 aluminum pigmented coating per Hi-Shear Spec. 294.
= HI-KOTE™ 1 aluminum pigmented coating per Hi-Shear Spec. 294,

with color black on thread end, and cetyl alcohol lube per Hi-Shear

Spec. 305.
HI-LOK™ Product Specification M342.

8 mm Maximum Grip Length
4 mm Nominal Diameter Pin

Finish Code
Pin Basic Part Number

"HI-LOK", "HL", AND "HI-KOTE",

ARE TRADEMARKS OF HI-SHEAR CORPORATION

DRAWN BY

DATE TITLE

VAN w007 | HI-LOK™ PIN (METRIC SERIES)
L 5 5P0 ey PROTRUDING SHEAR HEAD
R. TING 1970-04-20 TITANIUM

1mm GRIP VARIATION
REVISION DATE DRAWING NUMBER

K. TRAN
2017-10-12

HLM10

10F 1

©2017 Hi-Shear Corporation



http://www.lisi-aerospace.com/licenses

	Sheet1
	Drawing View17
	Drawing View18
	Section View H-H
	Section View J-J
	Drawing View24
	Drawing View25


